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(4-1). Write a production planning problem as an minimization LP problem. (5%)

(4-2). Write the above problem into a standard mathematical form. (5%)

A8 (4-2) % %

(4-3). Using (4-2) to explain the following terms (10%)
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(a) hyperplane, (b) Normal of a hyperplune;

(¢) closed halfspace:  (d) feasible region
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(4-4). Giving an LP as below: (10%)
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Draw a figure of this problem and identify the optimal solution.
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(5-1). Consider a technical matrix Ay With m -2 n, in a linear system Ax=b,
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Show that there are at most ¢ (n, m) basic solutions, and x = [ -’—‘-J
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where C(n.m)=——""—"_ and X4 . the basic variable and x, . the

non-basic variable. (10%)
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(5-2). Explain (5-1) by a linear system below
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(5-3). Find xz20 in (5-2) by Simplex method such that 2x, + X2 s maximized.
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